Surface Integrals
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Example - Sphere



7(9,6) = asin(p) cos(8)i + a sin() sin(8); + acos(@) k

fy = acos(9) cos(B)i + acos(9) sin(8)] = asin(g) k
7y = =asin(¢) sin(6): + asin(9) cos(8)] +0

Ty X Ty = | acos(9) cos(9) ucos(d)l)sin(H) -usi}n(d))
-asin(@)sin(d) asin(@)cos(6) 0

A= f f a’sin(¢p)dpde

= q? f — cos(¢) |: de

= u"?[ 2d6 = 4ma“

Example



2=g(xY)  rEexy,axy)>
f=<1,0,02/00 1 =<0,1,02/0y>

_ 0z, 0z,
axl =]t +k

fx)(fy: ay

]k

1 oa/a
0 1 0z/oy
et = Vafon+ Gafoyy+1

[ 400, v, 200,101 2/ + (Bafoy) 1 dicly

[ X1 % <6y, <CosV, U
£ \/(sinv)2 H(COSV)H 41 2 \/W

5 = {10
[ s [

Example

Z=g(xY)  rEcxy,axy)»
f =<1,0,0z/0x> f =<0, 0z/0y>

x| =1 - —jk

F xt ] = Y(32/o0e + (afayy +1

[ 800, , 20,01 Y (@efan) + Gafay) #1 dxcly




